
Integralrechnung 

 

Hauptsatz der Differential- und Integralrechnung : 𝐴 =  ∫ 𝑓(𝑥) 𝑑𝑥 =  [𝐹(𝑥)]𝑎
𝑏 = 𝐹(𝑏) − 𝐹(𝑎)

𝑏

𝑎
 

𝑓(𝑥) =  
1

2
𝑥 im Intervall I = [1; 4] 𝑓(𝑥) =  

1

3
𝑥² im Intervall I = [-1; 1] 

 
 

 

 

 

 

 
 

 

 

 

 

 

𝑓(𝑥) =  𝑒𝑥 im Intervall I =  [−1;  1] 𝑓(𝑥) =  𝑥2 − 1 im Intervall I = [-1; 1] 

 
 

 

 

 

 

 

Erkenntnis:  

𝑓(𝑥) =
1

3
𝑥3 im Intervall I = [-1; 1] 

(Orientierter Flächeninhalt) 

𝑓(𝑥) =  
1

3
𝑥3 im Intervall I = [-1; 1] 

(Absoluter Flächeninhalt) 

 
 

 

 

 

 

 



 

Berechne den Flächeninhalt im Intervall 𝑓(𝑥) = 𝑥3 − 𝑥2 − 2𝑥 im Intervall I = [-1; 2] 

 

1. Nullstellen berechnen 

𝑥3 − 𝑥2 − 2𝑥 = 0 

x (x² -x - 2) = 0 

1. Fall: x = 0 => N1(0|0) 

2. Fall: x² -x - 2 = 0 

𝑥1,2 =  +
1

2
 ±  √

1

4
+ 2 

𝑥1,2 =  +
1

2
 ±  √

9

4
 

𝑥1,2 =  +
1

2
 ± 

3

2
  

     𝑥1 =  +
1

2
+  

3

2
=  

4

2
 = 2 N2(2|0)      𝑥2 =  +

1

2
−  

3

2
=  −

2

2
 = -1   N3(-1|0) 

2. Abschnittsweise integrieren 

𝐴1 =  ∫(𝑥3 − 𝑥2 − 2𝑥) 𝑑𝑥 =  [
1

4
𝑥4 −  

1

3
𝑥3 − 𝑥2]

−1

0

= 0 − (
1

4
+

1

3
− 1) = 0 +  

5

12
=  +

5

12
 𝐹𝐸

0

−1

 

𝐴2 =  ∫(𝑥3 − 𝑥2 − 2𝑥) 𝑑𝑥 =  [
1

4
𝑥4 −  

1

3
𝑥3 − 𝑥2]

0

2

=
1

4
∙ 24 −

1

3
∙ 2³ − 2² − (0) = 4 −

8

3
− 4 = −

8

3

2

0

= − 2
2

3
 𝐹𝐸 

Absoluter Flächeninhalt: 
5

12
+ |− 

8

3
|   = 

5

12
+

8

3
=  

37

12
 = 3 

1

12
 𝐹𝐸 

Orientierter Flächeninhalt: 
5

12
−  

8

3
   = 

5

12
−

32

12
= − 

27

12
 = -2 

3

12
= −2 

1

4
 𝐹𝐸 

 


